'> Repair Instruction for the MP-C Pressure Intensifier

ScanWill’

More Pressure. More Power

Before beginning to repair the intensifier, it must be taken to a clean
environment. Otherwise contamination might cause the unit to be malfunctioning
after repair.

1.0 Dismantling the intensifier

1.1 Untighten the 2 off M6x100 screws

/ M6 x100 screw

M6 x100 screw

1.2 Take the unit apart Block

Top part

End Part

Housing

1.3 Remove the POV-piston from the top part.

High Ensure the high pressure piston can be
moved by hand in the top part. If not return
unit to factory for repair.

Pressure
Piston

POV-Piston

1.4 Inspect O-rings (2 off ID45 x 1.5) in the
housing, and replace if needed.

Spool valve Ensure the low pressure piston and the
spool valve in the housing part can be
moved by hand. If not return unit to
factory for repair.

_ RIC2017-A-01
Low pressure piston



»

ScanWill’

More Pressure. More Power

1.5 Inspect End Part, and ensure it is clean.

2.0 Changing the Check Valves CV1 and AV

2.1 Unscrew the cartridge valves CV1 and POV
Please note they are identical.

Clean the Top part. CV1-Vvalve

Mount new CV1- and POV cartridge valves, and

tighten both with a torque of 18 Nm POV-Valve

3.0 Changing the Check Valve CV2

3.1 Unscrew the cartridge valves CV2 using the 8 mm hexagon

Clean the valve seat.

Mount a new cartridge valves, and tighten
with a torque of 18 Nm.

Check the

2 off O-rings 6x1, 1 off Kantseal,
1 off O-ring 45x1,5 PU92

and replace if needed

4.0 Assembling the MP-C-AV Pressure Intensifier

4.1 Place the POV Piston in the bore, ensuring the
longer thinner pin is pointing into the valve.

RIC2017-A-01



>

ScanWill’

More Pressure. More Power

4.2 Ensure the small pilot piston is positioned inside

4.3

4.4

the spool valve, with the smaller diameter pin
pointing inwards as shown below

=

Ensure the low pressure piston is positioned with
the slotted part as shown on photo. Ensure the
spool valve is positioned as shown on photo.

Position the housing on the top part using
the spool valve and the POV-piston as
alignment.

Position the end part on top of the housing
using the spool valve and bolts as locators.

Position the intensifier housing parts on top
of of the block positioned as shown, and
tighten the 2 off M6 x 100 screws with a
torque of 18 Nm,

Position the 4 O-rings 9,25x1,78 NBR 90
in the 4 grooves and test the intensifier.

o0
OO

Scanwill Fluid Power ApS

Roholmsvej 10L, 2600 Albertslund,Denmark
Phone: +45 7442 3450, Fax: +45 7442 3430
www.scanwill.com e-mail: info@scanwill.com

RIC2017-A-01



	Before beginning to repair the intensifier, it must be taken to a clean environment. Otherwise contamination might cause the unit to be malfunctioning after repair.
	2.0 Changing the Check Valves CV1 and AV
	3.0 Changing the Check Valve CV2



